Ci
17 S

C636095
Countersunk Head Hex
Screws 2x14mm
C636099
Motor Pinion
Gear 12T
for 180 Motor

C636057
Button Head Hex Screws 2x5mm

C636023
“~._ Spur Gear 64T

180 Brushed Motor .. \ . J. S Beari C(‘332('3(?:_,522 5
and motor mount <. ~ S d . earings 2x5x2.5mm

C636057 AR
Button Head Hex Screws 2x5mm

©  (ew

Bearings Button Head Hex
2x5x2.5mm Screws 2x5mm

Cen
18N

C636053 [
Button Head Hex ! /A
Screws 1.4x7mm o

G”mgmmw ©636053

Button Head Hex
Button Head Hex Screws 1.4x7mm
Screws 1.4x7mm

PANDA HOBBY - TE7ZRA - INSTRUCTION MANUAL



ASSEMBLY STEPS

@7 Pins 3x5mm

Cen
[ cere oo oo |

1

Pins 1.5x8mm

Pins 1.5x8mm

o

C636015
Front Center Drive Shaft Set

Pins 3x5mm

20— ceseos7

Button Head He: N
Screws 2x5mm %

N ~

C636055 N 14

Button Head Hex -~ 2

C636057 2
Button Head Hex Screg 2x8mm

Screws 2x5mm C636032 / R

C636057 Skidplate/ lower gear cover €/~
Button Head Hex
Screws 2x5mm

C636055
Button Head Hex
Screws 2x8mm

X N C636057
~. C636068 Button Head Hex
> = i . Transverse Stiffener Screws 2x5mm

£636031S
Main Chassis Rails, Steel (L&R)

=" 0~ N C636061

~

% N Ball Studs M2

~

AN C636057
Button Head Hex
Screws 2x5mm

C636057
i G}W Button Head Hex
(i Soroms paBm

Button Head Hex Button Head Hex
Screws 2x5mm Ball Studs M2 screws 2x8mm

D) PANDA HOBBY - TE7ZRA - INSTRUCTION MANUAL



ASSEMBLY STEPS w

C636054
21— Bt e e — R0
Shock Towers

Screws 2x6mm

C636037
Rear Shock Tower

C636057
C636054 Button Head Hex A

Button Head Hex Button Head Hex
Screws 2x6mm Screws 2x5mm Screws 2x8mm

C636055
Button Head Hex/%

Screws 2x8mm

C636057
Button Head Hex
Screws 2x5mm

C636036

Front Shock Tower C636057

Button Head Hex
Screws 2x5mm

[ | *\%\%

C636054
Button Head Hex
Screws 2x6mm

Button Head Hex  Button Head Hex  Button Head Hex
Screws 2x5mm Screws 2x8mm Screws 2x6mm

22 Center Gear Box
Installation

C636057
Button Head Hex

Screws 2x5mm(8)
Button Head Hex
Screws 2x5mm(8)

PANDA HOBSBY - TETRA - NSTRUCTION MANUAL 2)



ASSEMBLY STEPS

23 Upper&Lower Link

[os]
[l
[=]
©
(o]
©
(&)

Upper Link

C636060
ivot Balls 4x4mm

® ©

C636039
Lower Link

ul

Pivot Balls 4x4mm

C636060
Pivot Balls 4x4mm

/

©

C636060
ivot Balls 4x4mm

C636058
Button Head Hex Screws 2x18mm

24 Front Upper Link

LA

2mm Nylon Locknuts

Button Head Hex Screws 2x18mm

PANDA HOBBY - TETRA - NSTRUCTION MANUAL



ASSEMBLY STEPS

2 5 Front Set Installation|

T
V=

C636062
2mm Nylon Locknuts

C636058
Button Head Hex Screws 2x18mm

Button Head Hex Screws 2x18mm 2mm Nylon Locknuts

PANDA HOBBY - TETRA - NSTRUCTION MANUAL



	Panda TETRA X1 Instruction manual（图片）  23
	Panda TETRA X1 Instruction manual（图片）  24
	Panda TETRA X1 Instruction manual（图片）  25
	Panda TETRA X1 Instruction manual（图片）  26
	Panda TETRA X1 Instruction manual（图片）  27

